7175
7177 (2X)
7191

5004-BDG

5001-BB12-D

7155 (2x)
7147

N

7160 (2)
5005-B

7118//////"
7138 (3x) /

7136 (3x)

\

5007
7165 (2x)
7176 (2x)

DRAWING IS THE SOLE PROPERTY OF
COST CAST, INC. ANY REPRODUCTION IN' | FINISH
PART OR AS A WHOLE WITHOUT THE

WRITTEN PERMISSION OF COST CAST, INC.

IS PROHIBITED.

VARIOUS

A 13843

A

REVISIONS
REV. DESCRIPTION DATE APPROVED
A INITIAL RELEASE 5/16/2016 AMK
D
ITEM NO. PART DESCRIPTION Qry.
- - 1900 Housing, Serrated Top, Black, 12-Circuit
7900-BB12-HD Block Only, Hinged Door, Door Assembled I -
_ _ 1900 Housing, Serrated Top, Black, 12-Circuit
5001-BBT2-A Block Only, Terminal Block Installed !
5001-BB12-H 1900 Housing, Serrated Top, Black, Drilled/Tapped I
for 12-Circuit Block Only, Hinge Pins Installed
_ _ 1900 Housing, Serrated Top, Black, Drilled/Tapped
5001-8B12-D for 12-Circuif Block Only !
7127 Type 2 Hinge Pin 2 c
7‘| 27 (2X) 7147 Disconnect: Terminal Block, 12 Circuit 1
7160 #10-32 x 1 1/4", Type 23, Thread Cutting Screw, 2
Philips Pan Head
_ 1900 Door, Hinged, Black, Drilled, w/ Gasket
5004-8DG Installed !
7191 1/4"-20 x 1 1/8"Thumbscrew, for 1900/1901 I
Hinged Door, $S304
7177 1/4" Washer, Flat, $5304 2 B
7175 Retaining Ring for 1900/1901 Disconnect I
Thumbscrew, X-21
5005-B 1900 Insert, Tri-Stud, Black 1
7900-B 1900 Hold Down Bar Kit 1
7165 1/4"-20 x 5/8" Cap Screw, Hex Head, $§304 2
7176 1/4" Washer, Lock, §§304 2 B
5007 1900 Hold Down Bar 1
7801-3 Washer Kit, Tri-Stud I
7118 Washer, Tri-Stud, $S304 1
7136 5/16"18 Hex Nut, Nyloc, §§304 3
7138 5/16" Washer, Lock, $S304 3
7155 Grommet, Small, for 1900, Open Hole 2
NAME DATE | UNLESS OTHERWISE SPECIFIED: COST CAST |NC —
DRAWN ACW 5/16/16 | DIMENSIONS ARE IN INCHES !
CHECKED AMK 5/16/16 IT:(R)AL\EZRT/I\C')\‘I\CI:EE'L' TITLE:
ANGULAR: MACH# 1/32"
ENG APPR. TWO PLACE DECIMAL % .03" ] 9 OO— B H 33— ] 2 B
MFG APPR. THREE PLACE DECIMAL # 010"
1900 Disconnect, Black, Hinged Door, Tri-Stud Top, | A
QA. INTERPRET GEOMETRIC h o
TOLERANCING PER: Tri-Stud Insert, 12-Circuit Block Only
PROPRIETARY AND CONFIDENTIAL e TERIAL
THE INFORMATION CONTAINED IN THIS VARIOUS SIZE |DWG. NO. REV

DO NOT SCALE DRAWING

SCALE: 1:4 |WEIGHT:

| SHEET 1 OF 1

3

2 ' 1



